Pre-Calculus

Assignment
Divide.

) (n* =n® =35> =47 -15) = (n-7)

3) (b* +156° + 636> + 79 - 14) = (b + 9)

5) (n* +7n + 18n% + 8n - 24) = (n + 3)

7y (4n* +24n° + 14n* - 34n - 16) = (n + 5)

9) (10x* + 81x% + 11x% +25x - 2) + (x + 8)

11) B3m* = 7Tm> - 41m* + 6m - 14) + (m - 5)

13) (n* = 7n% =220 +22) + (n + 3)

15) (@®* -10a®>-a +83) +(a-9)

17) (¥ +5v2 - 13v+13) + (v - 1)

19) (6x° - 38x% +17x - 21) + (x - 6)

21) (n* +4n® - 28n* —6n-33) + (n - 4)

23) (6x* - 14x% - 19x% + 16x + 23) = (x - 3)

Name 1ID: 1

Date Period

2) (9k* - 100&> + 95k + 58k — 84) + (k - 10)

4) (7m® - 63m* - 63m - 76) = (m - 10)

6) (k* — k> - 31k* = 2k + 14) + (k + 5)

8) (v +11v° + 292 - 6v - 36) « (v + 4)

10) (2n* - 18n° + 46n% - 67n +52) + (n - 6)

12) (x* - 8x% +7x +32) + (x - 3)

14) (x* +4x* = 15x - 47) + (x + 5)

16) (x* = 15x° + 64x% = 70x + 46) + (x - 8)

18) (x* +5x% = 30x + 50) + (x + 9)

20) (n* - 2n° - 51n% = 22n - 28) + (n + 6)

22) (b* - 13b° + 497 - 506 + 43) = (b - 6)

24) (k* -4k - 11 = 9% +7) + (k + 1)



25) (K + 10k* + 26k - 5) = (k +5)

27) (p> +2p* - 14p +55) + (p + 6)

29) (5a° - 34a% + 550 - 46) + (a - 5)

31) (m4 —3m> - 49m* + 28m - 10) + (m + 6)

33) (<6n* = 100> + 81 +9n - 3) + (n +2)

35) (x* +9x% +5x-21) = (x +2)

37) (8x* + 73x® — 74x? - 30x + 90) + (x + 10)

39) (k* + 2k° - 67k% + 34k - 50) + (k- 7)

41) (P + 1172 +20r +13) = (r + 1)

43) (x* - 12x*> +25x + 63) = (x - 8)

45) (n®* +n*-14n-4) + (n - 3)

47) (a* - 174> + 764> - 53a - 67) + (a - 10)

49) (3n> + 321> + 39 - 64) + (n +9)

26) (x> +15x% +55x - 14) + (x + 7)

28) (p* - 11p° +32p> - 17p+31) + (p - 6)

30) (7m® + 40m® - 16m - 31) + (m + 6)

32) (n4 - 8n® +13n° +5n+4)+(n—3)

34) (PP +4p> -7p-14)+(p+1)

36) (5b* +25b° - 74b% - 34b - 52) + (b +7)

38) (4x® - 37x% +53x +62) + (x = 7)

40) (n® =51 +3n+13)+(n-2)

42) (V+60-17v+1) =+ (v +8)

44) (n® - 191> +96n - 62) = (n - 9)

46) (n* -n®-21n> +41n-16) = (n + 5)

48) (n4 +8n° + 8n* - 29n - 27) = (n + 3)

50) (a* - 124> + 194% + 184 +9) + (a - 3)



51) (x* = 15x2 +56x = 15) = (x - 6)

53) (k3 +9k% + 22k + 10) = (k + 4)

55) (p* = 11p> +4p* +58p + 10) + (p - 10)

57) (n® = 11n® + 140 +37) = (n - 9)

59) (x*+6x° —4x? +5x-2) +(x-1)

52) (v* =31 =51v2 - 19v - 68) = (v-9)

54) (a* + 124> +37a% + 29a + 37) + (a + 4)

56) (x> +4x* = 5x+37) = (x + 6)

58) (3x* - 18x° +21x% + 22x - 13) + (x - 3)

60) (k> + &> - 14k +11) + (k- 2)



Pre-Calculus
Assignment
Divide.

) (n* =n® =35> =47 -15) = (n-7)

n+on+Tn+2 -
n-717

3) (b* +156° + 636> + 79 - 14) = (b + 9)

b +6b>+9b -2+
b+9

5) (n* +7n + 18n% + 8n - 24) = (n + 3)

n’ +4n® +6n-10+

n+3

7y (4n* +24n° + 14n* - 34n - 16) = (n + 5)

4n® +4n* —6n -4 +

n+5
9) (10x* + 81x% + 11x% +25x - 2) + (x + 8)
10
x+8
11) Bm* = 7m* - 41m® + 6m - 14) + (m - 5)
9
m->5

13) (n* = 7n% =220 +22) + (n + 3)

10x> + x? +3x+1 -

3m +8m>—m+1 -

n®-10n + 8 -
n+3
15) (@®* -10a®>-a +83) +(a-9)
a’-a-10- 7
a-9

17) (¥ +5v2 - 13v+13) + (v - 1)

Vi6v-T7+
v—-1

19) (6x° - 38x% +17x - 21) + (x - 6)

6x° —2x+5+

x—-06

21) (n* +4n® - 28n% —6n-33) = (n - 4)

n’ +8n° +4n+10 +
n-4

23) (6x* - 14x% - 19x% + 16x + 23) = (x - 3)

6x° +4x> —Tx -5+

x-3

Name

Date Period

2) (9k* - 100&> + 95k + 58k — 84) + (k - 10)

9k®> — 10k*> = 5k + 8 —
k-10

4) (7m® - 63m* - 63m - 76) = (m - 10)

Tm? + Tm + 7 -

m-10
6) (k* — k> - 31k* = 2k + 14) + (k + 5)
o6k k3 —
k+5

8) (v +11v° + 292 - 6v - 36) « (v + 4)

Ve ev-10+
v+4

10) (2n* - 18n° + 46n% - 67n +52) + (n - 6)
10

n-=6

12) (x* - 8x% + 7x +32) + (x - 3)
8

e

14) (x* +4x* = 15x - 47) + (x + 5)

20 —6n* +10n -7 +

x> -5x -8+

X2 -x-10+
x+5

16) (x* = 15x° + 64x% = 70x + 46) + (x - 8)
2

x-8

18) (x* +5x% = 30x + 50) + (x + 9)

X = Tx* +8x-6-

x*—4x+6-
x+9

20) (n*-2n° =510 -22n-28) +(n +6)
4

n+6

22) (b* - 13> + 496> - 50b + 43) + (b - 6)

5

n’ —8n*-3n-4-

b3—7b2+7b—8—b

24) (k* -4k - 11 = 9% +7) + (k + 1)
10
k+1

-5k -6k-3+

ID: 1



25) (k° + 10k% + 26k = 5) = (k + 5)
10
k+5

27) (p> +2p* - 14p +55) + (p + 6)

K +5k+1-

pP—4p+10-
p+6

29) (5a° - 34a% + 550 - 46) + (a - 5)

5a%> = 9a + 10 +

a->5

31) (m4 —-3m® - 49m* + 28m - 10) + (m + 6)

m> —9m® +5m -2 +
m+6

33) (<6n* = 100> + 81 +9n - 3) + (n +2)

—6n> +2n* +4n+1-
n+2

35) (x® +9x% +5x - 21) =+ (x + 2)

x>+ 7x-9- 5
xX+2
37) (8x* + 73x% - 74x% = 30x + 90) = (x + 10)
10
8x° = 7x? —4x + 10 -
x+ 10
39) (k* + 2k° - 67k + 34k - 50) + (k- 7)

8
k

-7
41) (P + 1172 +20r +13) = (r + 1)

K+ 9k* -4k +6 -

2 +10r + 10 +

r+1

43) (x* - 12x*> +25x + 63) = (x - 8)

x*—4x -7+

x-8
45) (n®* +n*-14n-4) + (n - 3)
10
n-3
47) (a* - 174> + 764> - 53a - 67) + (a - 10)

n*+4n-2-

a’-7a%* +6a+7+

a-10
49) (3n> + 321> + 39 - 64) + (n +9)
302 4 51— 6 — —
n+9

26) (x° +15x% +55x - 14) = (x + 7)
7

x+7

28) (p* - 11p° +32p> - 17p+31) + (p - 6)

x> +8x—-1-

p-5pt+2p-5+

p-6
30) (7m® + 40m® - 16m - 31) + (m + 6)
Tm? = 2m — 4 - /
m+6

32) (n4 —8n® +13n* +5n + 4) <+ (n - 3)

n -5t -2n-1+
n-3

34) (PP +4p> -7p-14)+(p+1)

pP+3p-10-
p+1

36) (5b* +25b° - 74b% - 34b - 52) + (b +7)
10

b+7

38) (4x® - 37x% +53x +62) + (x = 7)
8

x=17

40) (n® -=5n% +3n+13) + (n-2)
7

"

42) (V+60-17v+1) =+ (v +8)

5b° —10b% - 4b - 6 —

4x> - 9x - 10 -

n’>-3n-3+

vi_2v—1+
v+8

44) (n® - 191> +96n - 62) = (n - 9)

n’>-10n +6 —

n-9
46) (n* -n®-21n> +41n-16) = (n + 5)

n—6n>+9n -4+

n+5
48) (n4+8n3+8n2—29n—27)+(n+3)
n’+5n-Tn-8 - 5
n+3

50) (a* - 124> + 194% + 184 +9) + (a - 3)
9

a-3

a’>-9a*-8a-6-




51) (x* = 15x2 +56x = 15) = (x - 6)

X2 -9x +2 -
x—-06

53) (k3 +9k% + 22k + 10) = (k + 4)

K2 +5k+2+
k+4

55) (p* = 11p> +4p* +58p + 10) + (p - 10)
10
p-10

57) (n® = 11n® + 140 +37) = (n - 9)

pl-p’-6p-2-

nt-2n-4+
n-9

59) (x*+6x° —4x? +5x-2) +(x-1)

4+ 7xr+3x+ 8+
x-1

52) (v* =31 =51v2 - 19v - 68) = (v-9)

v+ 617 +3v+ 8+
v—-9

54) (a* + 124> +37a% + 29a + 37) + (a + 4)

a’ +8a*+5a+9+
a+4

56) (x> +4x* = 5x+37) = (x + 6)

X2 = 2x+7 -
xX+6

58) (3x* - 18x° +21x% + 22x - 13) + (x - 3)

3x° - 9x% - 6x+4 - 3

X
60) (k> + &> - 14k +11) + (k- 2)
5

k> +3k-8 -




